Accurate

Partitions Corp

INSTALLATION INSTRUCTIONS FOR
POLYMER SOLID PLASTIC PARTITIONS

/T
\;

7

P.O Box 287 Lyons, Il 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

Table Of Contents
Floor Anchored/Overhead Braced Page
Step 1,23 e 1
BHEP 45,5, e s 2
Panel To Pilaster/AWall Two Ear Assembly......ccooveee. 3
Panel To Pilaster/Walt One Ear Assembly................. 4
Pitaster/Wall One Ear Assembly.........coviniinne 5
Pilaster/Pane] Alcove Assembly. ..o &

Door Hardware {Vault Hinge) Assembly.......... 7 & 7A

Door Hardware (Integral Hinge) Assembly............... 8
Door Hardware (Piano Hinge) Assembly.........co.oe g
Headrail Assembly........co e 10
Urinal Screen Assembly....ooviie 11
Ceiling Anchored Page
SIED 1,2.3 i e s 12
BIED 4,58, oo e e 13
Panel To Pilaster/Wall Two Ear Assembly.............. 14
Panel To PilasterfWall One Ear Assembly................. 15
Pilaster/\Wall One Ear Assembly.......c.covrviiecrniienn, 16
Pilaster/Panel Alcove Assembly.......cooii 17
Floor Anchored And Ceiling Anchored Page
BED 1,23 s 18
SteP 45,6, . e 19
Panel To Pitaster/Wall Two Ear Assembly............... 20
Panel To Pilaster/Wall One Ear Assembly................. 21
Pilaster/Wall One Ear Assembly........ooovviiienns 22
Pilasier/Panel Alcove Assembiy...........ococevinie 23

P.O. Box 287 Lyons, i1 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

Table Of Contenis

Full Height Aluminum Kits Page
Panel To Pilaster/Wall Two Ear Assembly................ 24
Panel To Pilaster/Wall One Ear Assembly................. 25
Pitaster/Wall One Ear Assembly.............cocorieien 26
Product Information

Care And Maintenance Of Toilet Partitions............... 27

The Components for this project have been custom fabricated. They are
guaranteed with respect to manufacture and workmanship and were inspected
at the factory.

Before beginning work, the units should be inspected. If damage occurred in
transit, report immediately fo the freight company or other agencies thaf may
have caused the damage.

P.O. Box 287 Lyons, Il 60534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 1

LAYOUT

FLOOR ANCHORED/OVERHEAD BRACED
NOTE:FLOOR MUST BE CONCRETE

A. Review the layout drawings and package lists that
have accompanied this job.

B. Before proceeding, confirm that backing of walls and fleor is
adequate to support secure mounting of the tollet
compartment units.

C. Establish and mark pilaster center line from back wall,

FIGURE 1

STEP 2

D. Establish and mark panel center lines for wall brackets. ' e
iy

E. Establish pilaster fioor fastener locations from side wall - /’

according to shop drawings. (Note: Floor fasteners are ) e ;

located 1" from edge of pilaster.) e e e s v e
F. Mark wall bracket holes using brackets as templates.

FIGURE 2
WALL BRACKETS AND FLOOR ANCHORS G oAsTER

A. il holes for wall brackets and floor anchors
of appropriate size for particular fastening devices
supplied.

B. Insert anchoring devices in walls and secure
wall brackets.

C.Insert anchoring devices in walis and secure
wall brackets.

D. Install wedge anchor, washer and nut info

CENTER LINE \

WALL PILASTER

""" CENTER LiNE

s

— g -

N

STEP3
POSITION PANEL

the floor.

concrete floor and tighten. oo
. 7 FASTENER
i/
PILASTER /
CENTER UNE
FIGURE 3
A. Place panel on a support, 14" above
m
[ ]
B. Set it into wall brackets, but do not fasten
panet at this time. L
-]
<<}
e
-] 14" SUPPORT
s
. & a &
Page 1

P.0. Box 287 Lyons, I 80534 Phone:(708)442-6800 Fax:{708)442-7439
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 4
PILASTER PREPARATION

2 EAR BRACKETS
AT REAR OF
PILASTER

A. Align brackets in position on rear of
pilasters. Refer to layout drawings.

B. Fasten brackets fo pilaster with sheet
metal screws,

C. Pilasters at wail do not require U-brackets, buf
should be prepared for wall (and floor fastening)
as required by compartment layout. i floor
fastening is omitted, three wall brackets should
be used.

FIGURE 4

BRACKET

STEP 6
INSTALL PILASTERS

A. Slide shoe carefully over mouniing end of pilaster
and leave approximately 5" above end.

B. Thread support nuts and mounting washers over wedge
anchor to support pilaster mounting bar.

C. Position pilaster and mounting bar on threaded ancher
and attach lightly with square fiat washer, lockwasher and
locking nut.

FIGURE 5

SATIN FINISHED
STAINLESS STEEL/PLASTIC SHOE

/__3/ 8" x 21/2"
S/5 LAG SCREW
/ /
/LUCK[NG NUT

-&;j_ % | —~ROUND WASHER
(AP A A 1/4" /S
w MOUNTING BAR

SHOE CUP FOR

PELASTIC SHOES ONLY

WEDGE ANCHOR

LOOR MOU L

STEP 6
SECURING PILASTER/PANEL

A. Level each pitaster by adjusting both support nuts
to desired position.

B. Plumb each pilaster and fasten the pitaster to panel
using through bolts.

C. Establish door openings by setting pitaster mounting
bar to desired position on anchor.

D. Fighten locking nuts on top of pilaster mounting bar.

E. Slide shoe down to fioor level engaging shoe clips, for
plastic shoes, if stainless steel shoes, use screw.

F. Fasten panel to wall brackets using through bolts.

G.Remove panel suppori device.

FIGURE 6

Page 2

P.O. Box 287 Lyons, Il 60534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com Email: inffo@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/OVERHEAD BRACED

PANEL TO PILASTER/WALL
TWO EAR ASSEMBLY
POLYMER

Pitasters must be both plumb and level, To assist in
leveling, headrail may be lighily posifioned across
adjacent piiasters (do not fasten at this time),

A. Piumb panel and fasten panel to two ear bracket
at wall with through bolts.

B. Plumb pilaster and fasten pilaster to panel
using through bolts two ear bracksts.

FIGURE A

\ 2 \}'4
N 4/
I

Panel Hardware Kit (P/N 8445020} Includes:
ALUMINUM
PART D, DESCRIPTION QTYy
1 I I 8441750 Two Ear Alum. Bracket (6)
2 | @=esmmms- | 3250500 Theft Resistant 5/S #10-24 x 1" Step Bolls (6)
3 = 3260690 Theft Resistant 5/S #10-24 x 5/8" Barrel Nut (8)
4 | Powsopasm. | 3260450 Theft Resistant SIS#14x2 42" BMS (3]
5 === | 3080000 Plastic Shields {8
5 | o 3264320 Theft Resistant /35 #14 x 5/8" SM.S (6)

DRILL 174" DIA, HOLE(TYF) /

-

1

3
7 ——

4
\WS

——"

FIGURE &
=
6 “Snead
A L
| FIGURE B
7
/

5 "~._a3 -
2

FIGURE A

Panet to wall

N

Panel to pilaster

TR
Page 3

P.O. Box 287 Lyons, || 60534 Phone:{708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Emall; infof@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/OVERHEAD BRACED

Pane! Hardware Kit (P/N 8445010) Includes:

PANEL TO PILASTER/WALL ALUMINUM
ONE EAR ASSEMBLY PART ID. DESCRIPTION Qry
%Bm 4 Ll_ 2441786 One Ear Alum. Bracket {(8)
Pitasters must be both plumb and level. To assist in
leveling, headrail may be lightly positioned across 2 | Gomemm- | 3260600 Theft Resistant SIS #10-24 x 1" Step Bolls ®)
adjacent pitasters (do not fasten at this time).
3 4= 3260690 Theft Resistant 5/S #10-24 x 5/8" Barrel Nut (6)
A. Plumb panel and fasten panel to one ear bracket
at wall with through bolts. 4 | jusemmmen | 3260450 Theft Resistant SIS #14 x 2 1/2° SM.8 (6)
B. Plumb pifaster and fasten pilaster to panet 5 Femmms | 3080000 Plastic Shields (6)
using through bolts two ear brackets.
LIS QT w—— 3264320 Theft Resistant S/S #14 x 58" S.M.5 (6}
S 11
5 ”3
N
ol
~ 7T~
A e N
Ak ( AR, \
ok [OSEN et
5 1 f 1
5 3 .
A
-~ ™,
SR \ ‘\n\% /
~ 4 2
. \ /
6
& =y 3 N\ . .
2 S, — s - -
1
FIGURE A
e FIGURE A
5 1 . Panel to wall
/s
; a3 \
k, 2 ~ 4/.4
N .
/ <,
DRILL 14" DIA, HOLE(TYP) 6 3 e —
gm _/ ~
1 -/ 6 .
/ & \
/ 1N /ﬁ 3 \
[ i
FIGURE B ' 69” ;
-~ T, \ 2 3 )'
6 ~\ .
Basa a3} \ /
A0
- 1 / ~ P
~ i ~ .
P FIGURE B
L - Panel to pilaster
R
‘/LAST
pi Page 4

P.O. Box 287 Lyons, H 60534 Phone:{708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/OVERHEAD BRACED Pilaster/Wall Hardware Kit (P/N 8445210) includes:
PILASTER/WALL ALUMINUM

ASSEMBLY PART 1D, DESCRIPTION QTY
EQ.‘:Y__ME_B. 1 2441760 Cne Ear Wall Bracket {3}
Pilasters must be both plumb and level. To assist in 2 | GcEmem- | 3260500 Theft Resistant SIS Step Bolts #10x 24 x1" Long | (3)

leveling, headrail may be lightly positioned across

adjacent pitasters (do not fasten af this time).

3 eﬁ 3260690 Theft Resistant $/S Barrel Nut (3]
A. Establish door openings by adjusting pilaster ) .
mounting bar & nuts o desired position and 4 | Jomamemms. | 3260450 Theft Resistant S/5 #14 x 2 1/2" S.M.8 (6)
tightening.
5 ===y | 308000 Plastic Shelds 6)
B. Plumb pilaster and fasten pilaster to wall brackets
using through boits. 8 o | 3264320 Theft Resistant S/5 #14 x 3/4" SMS 8)

4
e
DRILL 1/4* DlA. HOLE |

SEE SHOP DRAWINGS FOR
PILASTER TO WALL SPAGING "\T 3

55 1/°3
Zﬁ\\?at
o

DRILL 144" DA, HOLE -]

-

FIGURE A F;GURE A

T :
/‘ 5 1 Pitaster fo wall
5
\ 2 '4
: ~
PN
h S *
DRILL 174" Dla, HOLE /]

3

-

AN

Page 5

P.O. Box 287 Lyons, 1} 60534 Phone:(708)442-6800 Fax:(708)442.743%
Website: www.accuratepartifions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/

OVERHEAD BRACED

PILASTER/PANEL ALCOVE

ASSEMBLY

POLYMER

Opional #8447020 2-ear Alcove Kit.
Not recommended by Accurate Partitions Corp.

~
2 34

SEE SHOP

DRAWINGS af
PILASTER TO

WALL SPACING
6540 3

2y

NOTE:

B35
“%é‘\";

o FOR OVERHEAD BRACED
1SN SEE #8445100
I SRy FORAPPLICATION
I w35 PAGE 10
ti LT

& %
E M "i‘

-~
o
——
-~
-
N
\"{\
M

t .
]

]

! SEE PAGE 7.8 9 for door

hardware & installation

X

.\'

>

~
3
L

Yyl

R

77,

Replace #3260450 Theft Resistant 8/S #14 x 2 1/2°
With #3264320 Theft resistant S/S #14 X 3/4"
To Fasten Pilaster To Panel.

2,3 /
Eé-" DRILL 174" DIA, HOLE(TYF)

"FIGURE A

Panel Hardware Kit (P/N 8447010} includes:

ALUMINUM
PART ID. DESCRIPTION QTy
! I 2441760 Cne Ear Alum. Bracket (8)
G-tmemen- | 3250600 Theit Resistant $/5 #10-24 x 1" Step Boits {12)
e 3260690 Theft Resistant $/S #10-24 x 5/8" Barrel Nut (12
[ I—— 3260450 Theft Resistant SIS #14 x 2 172" S M5 {14}
Poomen | 308000 Plastic Shields (14)
i S— 3264320 Theit Resistant S/5 #14 x 3/4" fic3}
oo 5265150 Alcave Clip S/5 ®)
I / FLF)} 2521980 Headral Bracket 5
T~
: ~
. / '
/‘ .
/' N\

»

Page 6

P.0. Box 287 Lyons, H 60534 Phone:{708)442-6800 Fax:{708)442-7439
Website: www.accuratepartitions.com  Email info@accuratepartitions.com




Accurate

Partitions Corp

DOOR HARDWARE Outswing Door Harg\:iasl'r?e:i}:g]’ili 8571008) includes:
ASSEMBLY-VAULT HINGE PART D, DESCRIPTION QTY
m 1 E]Eu 2562820 Vault Hinge Top Pilaster Side (1
install slide fatch on door oppsite the hinge side of door. All skde latches should be
mounted at midpoint of the door , 27 1/2" inches up from the bottom of the door. 2 EZE 2662830 Vaull Hinge Top Door Side It
INSWING DOOR 3 ? 2662850 Vault Hinge Bottom Door Side o)
Mount the shide latch on to the door with four {4) 16-24 X 1 inch step bolts and four {4) - . -
10-24 X 1/2 inch bame! nuts. Install keeper and bumper on pilaster. Be sure that the 4 mm 2662840 Vault Hinge Botto Pitaster Side (i
keeper and bumper is set so that the slide bar of the side latch engages the top notch of . 30681980 Spacer hinge top! Bottem Door Side )
the keeper. Install keeper/bumper with two (2)10-24 x 1-1/4 inch step bolts and two (2) = (For Phenolic Use Oniy) m
10-24 X 1/2 inch barrei nuts. 3081870 Spacer hinge Bottom Door Side
5| BT (For Phenchic Use Orly) m
QUTSWING DOOR 1 B3 3081980 Spacer hinge Pilaster Side
SRSl AL A A ; @
Mount the slide latch, and bumper on te the door. Siide latch on inside face, bumper on {For Phenolis Use Orb)
outside face. Use two (2)10-24 x 1-1/4 inch step bolts at the front holes and (2)10-24x1 {4 @ 2562670 Cam Adjusting Bottom Hinge e
inch step bolts at the back holes,use four (4) (2)10-24 x 3/8 inch barrel nuts also for -
mounting. Install keeper on pilaster. Be sure that the keeper is set so that the slide latch | o} [0 8082790 Bushing Nylon Top Hinge "
bar is only 1/4 inch (.250)below the top edge of the keeper. install keeper with {2)10-24 x
1-1/4 inch step bolts and two {2)10-24 x 3/8 inch barrel nuts. G 2562860 Nut Adjusting Bottora Hinge )
EMERGENCY ACCESS kil o oo Hinge Washer Internal (§}]
Lift door causing latch bolf to clear keeper and open, - o
12 @] 2563500 Side Laich Brushed Finish (1}
\ [\ ~ \® ; 13 E 2562740 Oulswing Slide Latch Keeper n
| I 14 | " | 2511700 Pull Handle ICh]
19 ]
Ej: ? 15 | @mEmn- 13260700 Tamper Resistant S/S Step Bolts #1024 x 114" | ()
17 18 2
?/; "\I @[\ . 1,?’ 16 vﬂ 2561600 Bumper And Coathook m
t .
A9
SRILL 4" DI HOLES W;)? / Lj y;'/& 17 | GmsmED | 3260600 Tamper Rosistant /S Step Boits #10-24 x 17 @
63_ 3260750 Tamper Resistant SIS Step Bolls #10-24 x 34
" " {For ;’henoiic Use Only) )
19 Q: 3260580 Tamper Resislant §/S Barre! Nut #1024 x 12" {8}
20 famm | 3262930 Tamper Resistant 3/S #10x 58" {4)
20”//'&6 21 @ 3260690 Tamper Resistant S/S Samal Nut #10-24 x 58" )
20 22 @ 2541710 Bumper "
14
Locate mid height -
of door ™~
-~
¥y 2 5 o
-~
o RN
r . 18/ .
h
ig l . install door
- 3 ! stop and keeper
-~ X 19 at height to
1 ;’? 1 7e l LI “as accept slide latoh,
17
B
L‘\STER
Page 7

P.D. Box 287 Lyons, Il 60534 Phone:(708)442-6800 Fax:(708)442-7438
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

DOOR HARDWARE inswing Door Hardware Kit (P/N 8571007) Inciudes:
Brushed Finish
ASSEMBLY"VAULT HENGE PART ID. DESCRIPTION QTY
ESMB 1 W 2562820 Vaul Hinge Top Filaster Side (1)
Install sfide latch on door oppsite the hinge side of door. Alf slide latches should be
mounted at midpoint of the door , 27 1/2" inches up from the bottom of the doar, 2 Eﬁ 2562830 Vault Hinge Top Door Side (1
INSWING DOOR 3 ? 2562850 Vault Hinge Sottem Door Side 4]
Mourd the slide latch on to the door with four (4) 10-24 X 1 inch step bolts and four (4) - - -
10-24 X 1/2 inch barrel nuts, Install keeper and bumper on pilaster. Be sure that the 4 mﬂ] 2662840 Vault Hinge Boltom Pilaster Side o
keeper and bumper is set so that the skde bar of the slide latch engages the top noteh of ) - 3081980 Spacer hinge top! Botiom Door Side .
the keeper. install keeper/bumper with two (2)10-24 x 1-1/4 inch step bolts and two (2} (For Phanclis Use Ony) "
10-24 X /2 inch barrel nuts. s| B 3081970 Spacer hinge Botto Door Side O
{For Phenolic Use Only)
QUTSWING DOOR . E._...‘.’] 3081990 Spacer hinge Piaster Side @
Mount the slide latch, and burmper on to the door. Skide fatch on inside face, bumper on (For Phenole Use Only)
outside face. Use fwo (2)10-24 x 1-1/4 inch step bolts at the front holes and (2)10-24 x1 | 5 @ 2562870 Cam Adjusting Boltom Hinge 1
inch step bolts at the back holes,use four (4) (2)10-24 x 3/8 inch barel nuts also for
mourding. Install keeper on pilaster. Be sure that the keeper is sef so that the slide lateh | ¢ IR B0E2790 Bushing Nylon Top Hinge 1}
bar is only 1/4 inch {.250)below the top edge of the keeper. Install keeper with (2)10-24 x
1-1/4 inch step bolts and two {2)10-24 x 3/8 inch bamel nuts. LR | 2562860 Nut Adjusting Botlem Hinge ¢}
EMERGENCY ACCESS LE] 0 xouoox Hinge Washer (ntemal )
1t door causing latch bolt fo clear keeper and open. "
12 E} 2563900 Skie Lalch Brushed Finish (i
\ '\ -~ \@ 43 ? 2562840 Inswing Keeper Brushed [¢)]
1
l | 14 @ [ 3260580 Tamper Resislant /S Barre! Nt #1624 x 12" 10
14 |9
E,ﬂ | 15 T 2561800 Bumper And Coathook &)
17 14 2
% “J @[\ . 1} 16] @ | 3260690 Tamper Resistant S5 Barel Nul #10-24 x 58" | ()
1 .
A4
DRILL 16 DA, HOLES TYPL? / t ' A 2 17 | §Emmamn | 3250500 Tamper Reslslant /5 Step Boits #1024 x 1" (11
I\I 18 fom- 3262130 Tamper Resistant $/8 #10x5/8™ V4]
/ 18
18%
18
1" 4
Locate mid height -~
of door ™~
by
17 -
12 13 1s
- -
e 152
X K2
l ) /
14 ; instal door
-~ 3 I stop and keeper
-~ P14 at height to
i7 7™ P auoept stide latch,
2SR
~ e
17 ~ 17
\ M
d |
8 Q 147D
% L W
WY " J Mg
0= \J, Ty Page 7A

P.0. Box 287 Lyons, 1l 60534 Phone:(708)442-6800 Fax:(708)442-7438
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

DOOR HARDWARE
ASSEMBLY-INTEGRAL HINGE
POLYMER

A. Insert bottor intergral hinge cam side into door with high/ow
points paraile! with door. See figure 1. Pin unit to door
by drilling #25 (.1495) dia.hole a minimum of 1.75" deep
through edge of-door and hinge as noted on dwg. Lock edge
of door and hinge lock unit into place with #10-24 cap point
set screw 1" long. See figure 2.

. Insert bottom intergral hinge pin side into pilaster. See figure 3,
Set door over bottom hinge. Hold door at an in tilt, insert top
integral hinge into hole at fop of pilaster. See figure 4.

Align door and let top pin fall into hole at top of door. See figure 5.
Door is hung.

. Set door posttion. Closed for oufswing door, open for inswing
door. When door position is set drilt #25 (.1495) dia, hole a minimum
of 1,75" deep through the pilaster edge and hinge at bottom. Lock

hinge into place with #10-24 cap point set screw 1" long. See figure 6.

D. Drilt #25 (.1495) dia. hole a minimum of 1.75" deep through both
top hinge and door. Lock top pin info place using #10-24 cap point
set screw 1" long. See figure 7.
—— Dxill 1.0 inches

Down from top of door
4 Drill #25 (.1495) dia. Hole

a maximum of 1,75" deep

o
\M
Location Per \
Drill 3.5 inches Up-

Lecal Code
From bottom of door 5{?/

If No Code
Drili #25 {.1495) dia. -

Location Per
Local Code

%o

%

OF

Center Inx
Height Of Door
Hole & maximum 8
of 1.75" deep

&

HE D{)Q
Dl 1.5 inches R

Down from botlom i’
Motch in pilaster

Ol #25 (. 1495) dia. Hole

a maximum of 1,75" deep

Inswing Door Hardware Kit {P/N 8981000) Includes:

PART ID. DESCRIPTION Qry
1 | 03 |6980100 Top Integral Hinge Pin Nylon 1)
2 | === | 5980200 Bottom Integral Hinge Cam Side Nylon 1)
3 GOBO210 Bottom integrat Hinge Pin Nylon Wita 318" pin | (1}
4 @ 2563890 Side Latch Brushed Finish 4}]
& B‘ 2562310 Keeper Brushed Finish {1)
8 % 2562300 Doer Stop Brushed Finish (WD)
7 T 2564600 Bumper And Coathook &3]
8 G- | 3280600 Tamper Resistant $45 Step Bolts #1024 x 1 (6}
9 @ 3280690 Tamper Resistant $/S Barre! Nut #10 x 58 &
10 Gom- | 3262130 Tamper Resistant S/S #10x 5/8" {2)
11— 3268151 P/H screw #10-24 x 1" Cap Point Set Scraw (4)
121 =% | 3082060 Spacer Door Stop "

Outswirig Door Hardware Kit {(P/N 8981010} Includes:

PART ID. DESCRIPTION QTY
A W | 2511700 Pull Handle N
2 et 2511710 Bumper {1}
3 m 3260700 Tamper Resistant S/3 Step Bolts #10-24x1-14" | {4)
10 G 3262130 Tamper Resistant 5/8 #10 x &/8" (2}

é%f//

FIGURE1  FIGURE2  FIGURE3  FIGURE4

R \l\w
\ 117

‘-»\\\ TN A

o
INENIEN N

>
"Ry floures Oy FIGURET

Page 8

P.0. Box 287 Lyons, 1| 60534 Phone:(708)442-6800 Fax:(708)442.743%
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

DRILL 144" DA HOLES

plLASTER

DOOR HA RDWARE Door Hardware Kit {P/N 5261850) Includes:

ASSEMBLY-PIANO HINGE Srushed Flnish

POLYM ER PART H3, DESCRIPTION QTY

I—— 1 5261850 SIS Spring Loaded Plane Hinge o)
2 L BEBE700 Throw Latch I
3 ] 2562310 Keeper Brushed Finish )
4 ] 3082860 Spacer Door Stop 1)
5 @ 2662300 Door Stop Brushed Finish )
6 G"‘ 2511600 Bumper And Coalhook I
7 | G 3280700 Thefl Resislant 576 Step Bols #1024 x 114" | ()
N P— 3250756 Theft Resislent S/5 Step Bokts #10-24 x 34 * 6
9 & 3260690 The Resistant S/8 Barrel Nul #10-24 x 58" (18)
10 - 2012130 Theft Resistant SIS #10 % 5/8 @

NOTE

- OUTSWING DOOR HINGE FASTENED TO QUTSIDE FACE
- INSWING DOOR HINGE FASTENED TO INSIDE FACE

Page 9

P.C. Box 287 Lyons, 1 60534 Phone:(708)442-6800 Fax:(708)442-7429
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

HEADRAIL
ASSEMBLY
POLYMER

ASSEMBLED

Headrail Hardware Kit (P/N 8448100) Includes:

PART ID. DESCRIPTION QTY
rl_ 2521980 Headrail Satin "F* Zamac Bracket @
é 2522200 Headrail Cap Satin Zamac N
g | 3250450 Theft Resistant /S #14 x 2 1/2" SM.8 @
===5 | 3080000 Plastic Shield 14/16 x 1-1/2" @
[ 3264120 Theft Resistant /S #14 x 5/8" SM.S @

EXPLODED ASSEMBLY

Page 10

P.O. Box 287 Lyons, l 66534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

URINAL SCREEN FULL HEIGHT

ASSEMBLY Urinal Screen Hardware Kit (P/N 8449000) Includes:
g ——— HEIGHT
POLYMER ALUMINUM FULL
PART 1D, DESCRIPTION Qry

A. Before proceeding, confirm that backing of 1 i i 5448000 38" Long Two Ear Wali U/S Bracket (1)

wall is adequate to support and secure

mounting of urinal screens. 2 | Semenes. | 3260450 Theft Resistant $/3 #14 x 2 1/2' SM.8 @
B. Insert anchoring devices in walls and secure 3 [E==== | 3080000 Piastic Shields (&

wall brackets.

4 | @owem | 3260600 Theft Resistant $/S Step Bolts 1" Long @

C. Place urinal screen on a suppert, 14" above

the floor. 5 6= 3260690 Theft Resistant /S Barret Nut @
D. Set it into walt bracket and fasten NOTE:

urinal screen with through bolts at this time. Optional Plastic full height{P/N 8989000-XXXX). "XXXX" Used To Designate Color.

EIGURE A
l / N e, \.
PR \
S3 el .
i a, 4}5
q\:‘- ~
\ \.\2\'2
\_3 7
g -
L e
nd “\\2\2 11
3 3\ \ &’
~_|, |Lo5
A% hole location to
nd "’\?2 127 suit instaltation
3 &
3 M L
e e
4'N‘\\2\2 1"
DRILL 14 DIA, HOLES (TYP) A UR\NALS
C EA
ARG FIGUR
AFF.

14" g
/ ~ AF.F.
~J

Page 11

P.Q, Box 287 Lyons, 1l 80534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 1
LAYOUT
CEILING ANCHORED

STRUCTURAL SUPPORT BY OTHERS

A. Review the layout drawings and package
fists that have accompanied this job.

B. Before proceeding, confirm that backing of wall and ceiling
is adequate to support secure mounting of toilet compartment
units.

C. Confirm correct location and condition of threaded celling rods.

These shouid project 2" io 2-1/2" below finished ceiling.

D. Establish and mark pilaster and panel center lines in
refation fo ceiling rod locations and drawings.

E. Mark wall bracket holes using brackets as templates.

FIGURE 1

STEP 2
WALL BRACKETS AND CEILING ANCHORS

A. il holes for wall brackets of appropriate size
for particular fastening devices supplied.

B. Insert anchoring devices in walls and secure
wail brackets.

C. Pilaster at wall should be prepared for wall
and ceiling fastening as required by compartment
layout.

FIGURE 2

PILASTER
CENTER LINE Fgg“!riémgm
/ LOCATIONS
s i . o 78 " \I T
WALL PILASTER PANEL _A/'

]
/ CENTER LINE CENTER LINE 1 ‘

¥ 1

STEP 3
POSITION PANEL

A. Place panel on a support, 14" above
the floor.

B. Set it into wall brackets, but do not fasten
pane! at this time.

FIGURE 3

-ﬁ(
16" SUPPORT
e

Page 12

P.O. Box 287 Lyons, 1| 60534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 4
PILASTER PREPARATION

A. Align brackets in position on rear of
pilasters. Refer to layout drawings.

B. Fasten brackets to pitaster with sheet
metal screws.

C. Pilasters at wall do not require brackets, but
shouid be prepared for wall and ceiling fastening
as required by compartment layout.

FIGURE 4

CROSS BRACING
BRACKET |
AT REAR OF
PILASTER |
REAR n\\\\\

FRONT

STEP &
INSTALL PILASTERS

A. Slide shoe carefully over mounting end of pilaster
and leave approximately 5" above end.

B. Thread support nuts and mounting washers over stud
to support pilaster mounting bar.

C. Position pilaster and mounting bar on threaded
anchor and attach lightly with shoe clip. If plastic
shoe use square flat washer lockwasher and
locking nut. If stainless shoe no clip required.

FIGURE 5

STRUCTLIRAL STEEL. BY OTHERS

3/818 x 6° STUD
378" NUT
316" DIAMETER LOCK WASHER

e 3487 THICK MOUNTING BAR

SHOE-STAINLESS STEEL OR PLASTIC

STEP 6
SECURING PILASTER/PANEL

A. Level each pilaster by adjusting both support nuts
to desired position.

B. Piumb each pilaster and fasten the pilaster to panel
using through bolts.

C. Establish door openings by setting pilaster mounting
bar to desired position on anchor.

D. Tighten locking nuts on top of pilaster mounting bar.

E. Slide shoe up to ceiling level, If plastic shoe, engage shoe
clips. If stainless shoes secure with screws,

F. Fasten panel to wall brackeis using through bolts.

G. Remove panel support device.

FIGURE 6

Page 13

P.O. Box 287 Lyons, ll 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com  Emall; info@accuratepartitions.com




Accurate

Partitions Corp

CEILING HUNG Fanel Hardware Kit (P/N 8466020) Includes:
PANEL TO PILASTER/WALL ALUMINUM FULL HEIGHT
TWO EAR ASSEMBLY PART ID, DESCRIPTION ary
POLYMER ‘
Pilasters must be both plumb and levet. 1 5441750 Two Ear Bracket O]
A. Flumb pitaster and fasten pilaster to panel 2 m 5449540 "U" Bracket %)
using through bolts.
3 GE-' 3260600 Theft Resistant S/S Step Bolts 1" Long 12
B. Plumb panel and fasten panel o 2-Ear bracket P 2
j F d b bt
z;:;"n\:\gi:ﬁgé?:\gz bolts and barrel nuts or 4 @ 3260680 Theft Resistant S/S Barrel Nut (i)
5 | jesmssmmn. | 3260450 Theft Resistant S/S #14 x 2 1/2" SM.S (12)
6 | —) 3080000 Plastic Shields (12)
7 - 3264120 Theft Resistant S/S #14 x 5/8" SM.S (12}
OPTIONAL;
B 1 (P/N 8886020-XXXX)PLASTIC FULL HEIGHT BRACKET. "XXXX" Used To
B ~ 4 Designate Color,
g\ ..\
T 5 R
3 (s ofE
4" CROSS BRAGING
FASTENED WITH
4 \?‘\ . #14 x 1% SCREWS /
‘\': ™~
3'/ ™ 5
Ut
pt | .
- a'\:‘- -~ 7\‘%5’4
c o \.\5 el T
3
6 5 hole location to .
G, n 4 suit installation
:J. \\ 7\ ’ﬂ
3N s o W
5 3
DRILL 1/4° Bl HOLETYR)
Ta az_
el |
3
7a] 2
Py
2
Page 14

P.0O. Box 287 Lyons, Il 60534 Phone:{708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

CEILING HUNG Panel Hardware Kit (P/N 8466010) Inciudes:
PANEL TO PILASTER/WALL ALUMINUM FULL HEIGHT
ONE EAR ASSEMBLY PART ID. DESCRIPTION QTy
POLYMER
Pilasters must be both plumb and level. 1 5442760 One Ear Bracket M
A, Plumb pilaster and fasten pilaster to panel 2 m 5449540 "U" Bracket (1
using through bolts.
3 E-— 3260600 Theft Resistant S/ Step Boits 1" Lon 12
B. Plumb pane! and fasten panel fo 1-Ear bracket P s 2
at wall with through bolts and barrel nuts or ]
sheat metal screws. 4 ﬂ@ 3260690 Theft Resistant S/S Barrel Nut (12}
5 fm—— 3260450 Theft Resistant S/ #14 x 2 1/2" S.M.S (12)
] m 3080000 Plastic Shields 12)
7 e 3264120 Thefl Resisiant $/S #14 x 5/8" S.M.S (2
QPTIONAL:
By {P/N 8986010-XCCONPLASTIC FULL HEIGHT BRACKET. "XXXXX" Used To
G 6 4 Designate Color.
] N ~
3 5
5 STER
4% CROSS BRAGING
B FASTENED WITH
B 4 #14 x 134" SCREWS /
LN
3¢f \\ 5
5 [
ad
AN .
S 4 2
~ S~ 7\ A
3 NN A
5 3
B hole lacation to .
6\_\ I _\4\. suit instatiation 7] |le
L " 4
3"\"\ 5 (a .
] . 3
DRILL t/4" DiA. HOLE(TYP)
7\‘ za
( *
3
7::. »2
12
Page 15

P.O. Box 287 Lyons, Il 60534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com  Email; info@accuratepartitions.com




Accurate

Partitions Corp

CEILING HUNG
PILASTER/WALL
ASSEMBLY
POLYMER

Pitasters must be both plumb and level.

A. Piumb pilaster and fasten pilaster o wall
using through boits or sheet metal screws.

B. Establish bottorn door openings by adjusting
pilaster mounting bar nuts o desired position
and tightening screws.

SEE SHOP DRAWINGS FOR
PILASTER TO WALL 8PACING

5wy, L
Sa (3
™~

V’.\ 4
4

N
d

2 '\\4\4

DRILL 144" DiA. HOLE(TYR) £ \

Pilaster/Wall Hardware Kit (P/N 8466210) Includes:
ALUMINUM FULL HEIGHT
PART ID. DESCRIPTION ary
1 | 5442760 One Ear Wali Bracket (1
2 §-memm- | 3260600 Theft Resistant $/S Step Bolts 1 Long (&)
3 C = 32610690 Theft Resistant /S Barre! Nut 6}
4 | jemmmmen. | 32610450 TheftResistant §/S #14 x 2 12" S.M.S (12)
5 m 308000G Plastic Shieids (12)
NOTE:
For Pilaster/Wall Hardware Kit (P/N 89862 10-XXXX)PLASTIC FULL HEIGHT.
"XXXX" Used To Designate Color.
hole location to
suit installation
Page 16

P.0. Box 287 Lyons, 1 60534 Phone:(708)442-6800 Fax:{708)442-7439
Website: www.aceuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

CEILING HUNG
PILASTER/PANEL ALCOVE
|ASSEMBLY

POLYMER

Pilasters must be both plumb and fevel.

A. Plumb pilaster and fasten pilaster to panel
using through boits.

B. Plumb panel and fasten panel to 1-Ear bracket
at walt with through bolts and barrel nuts or
sheet metal screws.

4" CROSS BRACING
FASTENED WITH
#14 x 134" SCREWS

SEE SHOP !
DRAWINGS ;ckﬁ‘ H
PILASTERTO 1) }
WALL SPACING | E
]
]
5 1
5\‘ 3
2 4
5
Yy}
2 %@ SEE DOCRKIT
2413 FOR APPLICATION
. PAGE7,80RS
34 “<7
s& 4 )
2; 1 %44
' 4
| 2 sl
B3 3
‘J
2'\-%44
4
DREL 174" DiA, 7 34
HOLE(TYP.)
-
pb >
i ~~
%\ 34, k
\"\.
~ -~
DRILE 1/4" DA, HOLE(TYF’.)/

Panel Hardware Kit (P/N 8466010) Includes:
ALUMINUM FULL HEIGHT
PART ID. DESGRIPTION EY
1 5442760 One Ear Bracket (&3]
z tj 5449540 "U" Bracket (1)
3 | Gommew- | 3260800 Theft Resistant S/S Step Bolts 1" Long | (12)
4 @!ﬂ 3260690 Theft Resistant S/5 Barrel Nut {12}
5§ —— 32680450 Theft Resistant SIS #14 x 2 1/2' SM.8 (12)
6 | [=="S5 | 3080000 Plastic Shickls {(12)
7 [ 3264120 Theft Resistant S/S #14 x 58" S.M.8 (12)
OPTIONAL:
PN BIBEDID-XOONPLASTIC FULL HEIGHT BRACKET. "XXXX" Used To
{esignate Color. O R
Panel Hardware Kit (P/N 8465020} includes:
ALUMINUM FULL HEIGHT
PART ID. DESCRIFTION QTY
1 5441750 Two Ear Bracket (1)
2 m 5445540 "U" Bracket 1)
3 GEEI—< 3260800 Theft Resistant S/S Slep Bolis 1" Long {12)
4 @ 3260880 Theft Resistant §/5 Barrel Nut (12)
5 | jummmmme | 3260450 Theft Resistant /S #14x 2 V2" SM.S (12)
6 % 3080000 Plastic Shields (12)
7 [ 2264120 Theft Resistant S/5 #14 2 5/8" SM.8 {12)
CETIONAL
(PN B385020-X000CPLASTIC FULL HEIGHT BRACKET. “XXXX" Used To
Designate Celor,
. 44.\
N
2T | -
5 5
HOLE LOCATION TO 4\
SUIT INSTALLATION )
4} . o
v
,
\5 8
. 44.\}‘ R
Page 17

P.O. Box 287 Lyons, I 60534 Phone:{708)442-6800 Fax:(708)442.7439
Waebsite: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 1
LAYOUT
FLOOR ANCHORED/CEILING ANCHORED

STRUCTURAL SUPPORT BY OTHERS
FLOOR MUST BE CONCRETE

A. Review the layout drawings and package fists that have
accompanied this job.

B. Before proceeding, confirm that backing of wall and ceiling

support is adequate to secure mounting of toilet compartment unis.

C. Establish and mark pilaster center line from back wall.

D). Establish and mark panel center lines for wall brackets.

E. Establish piiaster floor and ceiling fastener locations from side
wall according to shop drawings. (Note: Fasteners are located
1" from edge of pilaster).

F. Confirm correct location and condition of threaded ceiling rods.
These should project 2 fo 2-1/2" below finished ceiling.
Establish pilaster floor fastener location. Refer to layout dwgs.

G. Mark walf bracket holes using brackets as termplates.

B AN
"-'-...__~
\

Z3h

FIGURE 1
¢ &

L

rl

23%"

{g

STEP 2
WALL BRACKETS AND FLOOR/CEILING

FASTENERS

A Drili holes for wall brackets and floor anchors
of appropriate size for particular fastening devices
supplied.

B. Insert wedge anchor in concrete floor and secure
walt brackets,

A 21}1%
£
~ -/
g } /
Tl el
FIGURE 2
PILASTER

]/ CENTER LINE CENTER LINE

1‘*

CENTER LINE Fgg‘:'léﬁgﬂ
:F‘Q‘/‘ LOGATIONS

WALL PILASTER PANEL _A/ 1

- |
= + ¢

234" l 1 I
| bt
C. Insert wedge anchor into concrete floor and tighten. 1~ ¥ ]
. 7 7
L .~ FLOOR ,/

) = o FASTENER

- LOCATIONS,

w [ — _.y_i_.-___-_.__.afﬁ;mm.m
PILASTER __/
CENTER LINE
FIGURE 3
*

STEP 3
POSITION PANEL

A. Place panel on a support, 14" above
the floor.

B. Set it into wali brackets, but do not fasten
panet at this time.

-1 sty
: W
L]
.~
—_ qp
Lo
- e
14" SUPPORT
A s
s . s Page 18

P.0O. Box 287 Lyons, | 60534 Phone:(708)442-6800 Fax:(708)442-7438
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

STEP 4
PILASTER PREPARATION

A. Align brackets in position on rear of
pilasters. Refer to layout drawings.

B. Fasten brackets to pilaster with sheet

REAR —\

FIGURE 4

\ FRONT

metai screws. £ 2 %Rémcg(?
C. Pilasters at wall do not require brackets, but pio3 | PILASTER
should be prepared for wall floor and ceiling | vz
as required by compartment layout. e f
..%
4F
e
FF ";{/
AF. ‘I’ER
i
STEPS FIGURE 5
INSTALL PILASTERS

STRUCTURAL STEEL BY DTHERS

3/6°-96 x §" STUD
3/8* NUT

A. Slide shoes carefully over 3,/16" DIAMETER LOCK WASHER SHOE
ends of pilaster and leave B}
approximately 5" above end T 13/16" DIAMETER WASHER
or below mounting. v P T
B. Position pilaster and I SHOE CUP \ /—gfg L’fqé ééggw
mounting bar on threaded P b2 | s e T MOUNTING BAR ST LOCKING NUT
anchor and attach lightly with oy g i 2 | A~ —ROUND WASHER
shoe clip, square flat washer, SO T B 5 A 1/4 S/5
lockwasher and locking nut, if SHoE ﬁ yay MOUNTING BAR
stainless steel shoes, no dlip I s —x —— AL A SHOE CLIP
heeded. i S WL R st B e L 1 WEDGE ANCHOR
S g 'f..g £ ...é"_ﬂ.ovg&':'.; "‘ 45/"
] AR SR T ’1
s T " . A
CEILING BOLT MOUNTING DETAIL
STEP 6 FIGURE 6
SECURING PILASTER/PANEL
A. Level each pilaster by adjusting both support nuts
to desired position.
B. Plumb each pilaster and fasten the pilaster to panel
using through bolts.
C. Establish door openings by setfing pilaster mounting ?
bar to desired position on stud.
D. Tighten locking nuts on top of pilaster mounting bar.
o
E. Slide shoe up fo celling level, and down fo floor fimly
engaging shoe clips. If stainless steel, use screws.
F. Fasten panel to wall brackets using through bolfs.
G.Remove panel support device. Page 19

P.O. Box 287 Lyons, 11 60534 Phone:(708)442-6800 Fax:(708)442-7438
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED

PANEL TO PILASTER/WALL

TWO EAR ASSEMBLY

POLYMER

A. Plumb pilaster and fasten pilaster to panel
using through bolis.

8. Plumb panel and fasten panel to two ear bracket
at wall with through bolts.

FIGURE A
T
ORI
4 2%
\ N
N s /
R ~ .

——

Panel Hardware Kit (P/N 8445020} Includes:
ALUMINUM
PART ID. DESCRIPTION ary
1 I I 5441750 Two Ear Alum. Bracket (8)
2 w 3260800 Theft Resistant /S #10-24 x 1” Step Bells (6)
3 g 3260690 Theft Resistant S/S #10-24 x 5/8" Barrel Nut ()
4 | Juesmmmme | 3260450 Theft Resistant /S #14 x 2 42" S.M.S (8}
5 =5 | 3080000 Plastic Shieids &)
& - 32684320 Theft Resistant 5/5 #14 x 5/8" SM.5 (&)

DRILL 114" DIA. HOLE(TYR) -/

.

4.6 3 -
LR
|

1 FIGURE A

Panet to wall

FIGURE B

/'“‘“-4\
6
\

FIGURE B

Panel to pilaster

L~ R
2
7

A

Page 20

P.O. Box 287 Lyons, i 60534 Phone:{708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED Panel Hardware Kit (PIN 8445010) Includes:
PANEL TO PILASTER/WALL ALUMINUM
ONE EAR ASSEMBLY PART ID. DESCRIPTION QTY
,EQ_L_Y_M_E_B. 1 Ll_ 5441760 One Ear Alum, Bracket )
32 i .24 X 1" S
A. Plumb pilaster and fasten pilaster to panef 2 | G- 50500 Theft Resistant S/S #10-24 X 7* Step Bolts )
using through bolts. 3 g= 3260590 Theft Resistant /S #10-24 x 5/8" Barre Nt | (6)
B. Plumb panel and fasten panel to one-ear bracket . .
at wall with through bolts. 4 | Jmmwen. | 3260450 Theft Resistant S/S #14 x 2 /2 SM.S (6)
5 == | 308000C Plasiic Shields (8)
o [ — 3264320 Theft Resistant S/S #14 x 5/8” 3M.S (6)

5& 1

) /

. .’ '—““-."_"".\‘

/ -
/

&>\
!
T

\ N

o . .
2 ~.
1
FIGURE A OGATION T
= BT NSTALLATION FIGURE A
/55 1N Panel to wall
. a3 \
2 N2 l
N, ~ | .

o
Jo
[

DRILL 144" DIA. HOLE(TYP) / m
2
y

FIGURE B
/6"“-\
WL
23
2 3 /
\-'__./' s
FIGURE B
-~ Panel to pilaster
/

Page 21

P.0. Box 287 Lyons, | 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com



Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED

PILASTER/WALL
ASSEMBLY
POLYMER

Plumb pitaster and fasten pilaster to wall brackets
using through bolts.

5 1
2 \
~ A
DRILL 144" DiA. HOLE ]
SEE SHOP DRAWINGS FOR
PILASTER TO WALL SPACING —‘1 3
5 1
5 5 3
2 N
" 4
.

Wik

DRILL /8" 1A HOLE 4

T

FIGUREA
-
/5'5 TN,
. o3 \
\ k

2
NESA
e *

DRILL 144" DIA. HOLE /)

T

e

N

Pilaster/Wall Hardware Kit (P/N 8445210) Includes:

ALUMINUM
PART ID. DESCRIPTION Qry
1 5441760 One Rar Wall Bracket (3}
2 @z | 3250600 Theft Resistant S/8 Step Bolls 1" Long @
3 &= 3260690 Theft Resistant S/S Barrel Nut )
4 | fu—— 3260450 Thefl Resistant S/S#14x 2 1/2°8SM.8 (6)
[ % 3080000 Plastic Shields (6}
5] o 3264320 Theft Resistant S/8 #14 x 3/4" S.M.3 {8)
’ e~ Ve - N / .
Pilaster to wall
Page 22

P.O. Box 287 Lyons, il 60534 Phone:(708)442-6800 Fax:(708)442-743%
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED

PILASTER/PANEL ALCOVE
ASSEMBLY
POLYMER

Optional #8447020 2-Ear alcove kit.

Vs

B
&

.
-
SV ¥ i
2 ¢ 1 r‘&::\ \
SEE SHOP oo TRy N
DRAW&NGs;mﬁ% ] .
PILASTERTO || E T
WALLSPACNG | | Sy
5 1 | 1 E
s || |
SEE DOOR KIT
274 1 FoRaPPLIGATION |
Lo Ho g
! il avie
P |2
b
P
550 8 | |
P
Eoo
oo
! Ho K
] 1 e
o 1275
. |
S !
SN |
//’%\ \\\ 1~
-~ . .
7 W S~ | £

Panel Hardware Kit (P/N 8447010) includes:
ALUMINUM
PART 1D. DESCRIPTION QTy
1 I I 5441760 One Ear Alum, Bracket (6}
2 QEM- 3260600 Theft Resistant S/S #10-24 x 1" Step Bolts (12)
3 e 3260600 Theft Resistant $/S #10-24 x 5/8" Barrel Nut (12)
4 | e 3260450 Theft Resistant $/5 #14 x 2 1/2" S.M.8 (i4)
5 === | 3080000 Plaslic Shields (14)
L [ a— 3264320 Theft Resistant S/ #14 x 3/4" 3
7 265150 Alcove Clip SIS G
- - - . .
B / \ .
. / \ «
3
/ N> R
. 5 .
g . p ;
: 4 h
. | o ' !
7
\ 2 /
N /s
~. Ve
\ Pl o e /
3 FIGURE A
. 2ad
<
PA a4
3 I
2 @ \‘?5
HOLE LOCATION TO
SUIT INSTALLATION
ey
‘3; 44

3 Peoure A
/s

NOTE:

Replace #3260450 Theft Resistant $/S #14 x 2 1/2"
With #3284320 Theft resistant S/ #14 X 3/4"

To Fasten Pllaster To Panel.

-

FIGURE B

Page 23

P.O. Box 287 Lyons, [ 60534 Phone:(708)442-6800 Fax:{708)442-743%
Website: www.accuratepartitions.com  Email; info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED Panel Hardware Kit (P/N 8466020) Includes:
PANEL TO PILASTER/WALL ALUMINUM FULL HEIGHT
TWO EAR ASSEMBLY PART ID. DESCRIPTION aTY
POLYMER
1 I 5442750 Two Ear Bracket ()
_ 2 'm 5449540 "U" Bracket )
Optional #8466010 1-Ear kit.
3 | @Zmmowm- | 3260600 Theft Resistant SIS Step Bolts 1" Long (12)
4 =] 3260690 Theft Resistant S/S Barrel Nut (12
5 | jommm—| 3260450 Theft Resistant /S #14x 2 1/2" S.M.8 (12)
8 = 3080000 Plastic Shields 12)
B 1 7 oo 3264120 Theft Resistant S/S #14 x 5/8" S.M.S (12)
6 oy 4
AN NOTE:
3% TN 5 For PilasterWall Hardware Kit (P/N 8986020-XXXXIPLASTIC FULL HEIGHT
' 5 mXXX" Used To Designate Color.
6
6 \‘ 4
'}.;: ™~ l
37t N 5 !
5
. |
t
6 SN ;
. 4 | 2 4
SELS | 7a
e I
. | |
I ,
5 hole location to . H |
Bw L 4 suit installation EL, [
SN ~ 14
RS A f PR
5 13 |
. l ' 1
DRILL 1/4° Dis. HOLETYP) I t ]
. : | |
I7,
(R
b k| 4|
[13 |
f E
1 |
| | ' |
7 11
IFg\
I}
i
Page 24

P.O. Box 287 Lyons, 1l 66534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com  Email: info@accuratepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED Panel Hardware Kit (P/N 8466010) includes:
FPANEL TO PILASTER/MWWALL ALUMINUM FULL HEIGHT
TWO EAR ASSEMBLY PART IO, DESCRIPTION ary
POLYMER
1 5442750 One Ear Bracket (1)

5449540 "U" Bracket i\
Optional #8466010 1-Ear alcove kit

3 | GSommmm- | 3260600 Theft Resistant $/S Step Bolts 1" Long (12)

3260690 Theft Resistant S/S Barrel Nut (12)

5 | fe— 3260450 Theft Resistant S/S #14 x 2 1/2" S M.8 (12)

& % 3080000 Piastic Shiekds (12}
1
6 f\. 4?. 4 7 [ 3264120 Theft Resistant S/S #14 x 5/8" S.M.S {12)
A NS NOTE:
3 \5 5 For Pilaster/Wali Hardware Kit (P/N 8986010-0000PLASTIC FULL HEIGHT
. "XXXX" Used To Designate Color.
B
6 \h A} ™. 4
1. q \ t
37 N, 5 E
. : | |
[
58~ Al ! |
- 4 I 2 4
~ KO & 7\ 4
\5 5 | K |
s
6 ; | |
Bae t 4 hofe.locatlor.\ to . l | |
A N suit installation | I |le]
3 4
37N 5 et 1
5 . Ei 3 l
DRILL 1/4" DIA, BOLE(TYP) -/ E i l
| l
. E l !
ald
E [ 4B I
i 3
L]
AE
. | | |
T I? .|
™ 1[4
|5~

Page 25

P.0. Box 287 Lyons, 11 60534 Phone:(708)442-6800 Fax:(708)442.743%
Website: www.accuratepartitions.com Email: info@accuraiepartitions.com




Accurate

Partitions Corp

FLOOR ANCHORED/CEILING ANCHORED Pilaster/Wall Hardware Kit (P/N 8466210) includes:

PILASTER/WALL ALUMINUM FULL HEIGHT

ASSEMBLY PART ID. DESCRIPTION QrTy

E_Q_LXM..,EMBM 1 5441840 One Ear Wali 8racket m
2 Qmm 3260700 Theft Resistant $/S Step Bolts 1 1/4" Long (6)
3 @ 3260690 Theft Resistant $/S Barre! Nut {8}
4 | pusssconcw | 3910450 TheftResistant 5/8 #14 x 2 1/2" S.M.S {12)
5 === | 3080000 Plastic Shieids (12)
] [ 3264120 Theft Resistant S/S #14 x 5/8" S.M.8 (12)

NOTE:

For Pilaster/Wall Hardware Kit (P/N 89862 10-XXXX}PLASTIC FULL HEIGHT
XXX Used To Designate Color.

B
By, 1 \,
B S 4
» .\ \
N 5
3 5 0|
6\?‘\ 4
3”7 s
5 L]
6
6| |]04
L ) “\ Hole location to
WALL 3% AE suit installation
6
N N
3"'\\\5
5
DRILL 1/4" DiA. HOLE(TYF} -’

Page 26

P.0. Box 287 Lyons, 11 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




Accurate

Partitions Corp

CARE AND MAINTENANCE OF
TOILET PARTITIONS

In order to provide toilet partitions with the
care and maintenance, the following instructions
must be followed.

A All surfaces must be kept clean with water and a
mild soap solution only.

B. in order to provide toilet partitions with the proper
care and maintenance, the above instructions must be
followed.

WARNING

tnder no circumstances shouid these components be
subjected to:
*Abrasive powders or pads
*Water closet cleaners
*Ceramic tile cleaners
*Solutions containing more than 1 % by volume of
ammonia
*Solutions containing acids or iye
*Solutions containing enzymes

Attention to work progress during new construction of
renovation is important.

Other frades and cleaning services may use agenis for

ceramics and tiles that will damage these components.

Page 27

P.O. Box 287 Lyons, H 60534 Phone:(708)442-6800 Fax:(708)442-7439
Website: www.accuratepartitions.com Email: info@accuratepartitions.com




